
Stair Side Plate

Description  Fastening Set Mass (g)

 (g)

Part No.

Stair Side Plate (set)

 ( )
6xGB+6xHN 492 SPS.SSP40

40

130

100

250

5


H��@5


H��@��

40

130

100

250

5


H��@5


H��@��

munimula:lairetaM

M8x16 Bolt    

zinc plated    

Fastening SetHN

Right / Left / 

Additional Accessories  

Clamp A

 A

Description Fastening Set Mass (g)

 (g)

Part No.

Clamp A

 A
1xHQ 52 SPS.CL40.A

38

19

20

��@�

munimula:lairetaM

13

Modular Assembly System Modular Conveyor System Stair and Platform System Machine Guard System www.moduasm.com
All Rights Reserved

Tubular Framing System

Modular
Assembly Technology

®

M8x16 Bolt  

zinc plated    

M8 Spring Washer   

zinc plated

M8 Washer  

 zinc plated

M8 T Nut

nickel plated

Fastening SetGB

M8 Spring Washer   

zinc plated

M8 T Nut

nickel plated

M8x30 Bolt  

zinc plated    

Fastening SetHQ


